Wednesday, April 21, 2021 x Il (V) is a vector space <u>A</u> V, +V_C -VEV $v + (-v) = \vec{o}$ -V× Subspace . i) $5 \neq \varphi$ 2) if si ~ s2 ES, we have s1 + 5ES 1 If SIGS X GR the is, ES. 5 is a vector space Ex: Let V be a vector space, 05=[3]. Is S a subspace. 1) 5+0 since OES 2) ht si, si (5) => si=0, si=0. Now 51+5 = 0+0=0 E 5-3) LA SIES, LER Now $\alpha 5_1 = 40 = 0 \in 5$

: 5={0} is a subspace of V. Is S=V is a subspace of V. Ec. V V + P OCV 2) het 5, 152 () 3) 24 5, EV, ~ CR rs, GV V is subspace of V. $\overline{E_{K}} = \begin{cases} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} \\ x_n \end{pmatrix} G R \quad x_n = 2x_2 \\ x_n \end{pmatrix} G R \quad x_n = 2x_2 \\ x_n \end{pmatrix}$ a subspece of R. Îs 5 $\begin{pmatrix} 0\\0\\0 \end{pmatrix} \in \sum \begin{cases} x_{j=0} = 2x_{j=0} \end{cases}$ 5+4 9 Let $s_1 = \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix}$, $s_2 = \begin{pmatrix} y_1 \\ y_2 \\ y_3 \end{pmatrix} \in S$. 2) $y_1 = 2x_2$ $y_1 = 2y_2$. / (x,+y) Now $S_1 + S_2 = \begin{pmatrix} k_1 \\ k_2 \\ k_3 \end{pmatrix} + \begin{pmatrix} y_1 \\ y_2 \\ y_3 \end{pmatrix} =$ Now x,+y, = 2x+2y_ = 2(x,+y) 5,452 (50 s) 4 SIGS, ~ GR $\Rightarrow S_1 = \begin{pmatrix} X_1 \\ X_2 \\ X_3 \end{pmatrix} \cdot \begin{pmatrix} X_1 = 2 \\ Y_2 \end{pmatrix}$ XX1 XX2 Now $dS_1 = \angle \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} =$

Now $\langle x_1 = \langle 2 x_1 \rangle = 2(\alpha x_2) = 2(\alpha x_1) = 2(\alpha x_2) = 2(\alpha x_2) = 2(\alpha x_1) = 2(\alpha x_1$ (1), (2) a(3) >> 5 is a subgre of IR. $E_{X} = \int A \in \mathbb{R}^{2 \times 2} \qquad (a) = -a^{2} \\ = \frac{12}{12} \int .$ $I_{3} = \int a^{2} s s b s pare \int \mathbb{R}^{2 \times 2} .$ $A = \bigcirc \bigcirc \bigcirc \bigcirc \bigcirc$ $) 5 \neq q , 0 = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \in S$ $0=q_1 = -0=-q_2$ 2) Let $A, B \in S$ \Longrightarrow a = -a $A = \begin{pmatrix} a_{11} & a_{12} \\ a_{1} & g_{2} \end{pmatrix}, B = \begin{pmatrix} b_{11} & b_{12} \\ b_{11} & b_{12} \end{pmatrix}, A = \begin{pmatrix} a_{11} + b_{11} \\ g_{11} + g_{21} \end{pmatrix}, B = \begin{pmatrix} b_{12} & b_{12} \\ b_{11} & b_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{22} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{11} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{12} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{12} + g_{12} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{12} + g_{12} + g_{12} \end{pmatrix}, B = \begin{pmatrix} a_{11} + b_{12} \\ g_{12} + g_$ $\begin{pmatrix} c \\ 2l \end{pmatrix} = \frac{q+b}{2l} = -\frac{q}{l2} - \frac{b}{l2} = -\begin{pmatrix} q+b_{l2} \end{pmatrix} = -\begin{pmatrix} c_{l2} \\ l2 \end{pmatrix} = -\begin{pmatrix}$ S. AtBES. s) $\mathcal{L} A = \begin{pmatrix} a_1 & a_1 \\ a_1 & a_2 \\ a_2 & a_2 \end{pmatrix} \mathcal{C} S$, $\mathcal{L} \mathcal{C} \mathcal{R}$. $= \frac{a_{1} - a_{12}}{2i} = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{11} & \chi a_{22} \\ \chi a_{22} & g_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{12} & \chi a_{22} \\ \chi a_{22} & g_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} \\ \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi a_{22} & \chi a_{22} & \chi a_{22} \end{pmatrix} = \begin{pmatrix} \chi a_{22} & \chi$ $a_{q} = a_{l-q} = -(a_{q}) = -(a_{q}) = a_{A} \in S$

 $\frac{\mathcal{A}q}{2l} = \mathcal{A}\left(-\frac{q}{l}\right) = -\left(\mathcal{A}q_{l}\right)^{\mathcal{L}} = -\left(\mathcal{A}q_{l}\right)^{\mathcal{$ (VIVOQ) => 5 is a subpace of R^{2×1}. EC: S=[pcx) GPy] deg(pcu) is even g. 1) 5#\$, OES-2) p(x), $q(x) \in S \implies deg(p(x))$ is even, deg(q(x)) is even. p(x)+q(x) (E) $\frac{deg(p+q)}{deg(p+q)} = \frac{1}{2} \frac{deg(p+q)}{deg(p+q)} = \frac{1}$ P+2=2× E 50 S is not a subspace. 3) Let profet ~ CR. dg(prof) is even. deg $(\propto p(x))$ is even. $\Longrightarrow \propto p(y) \in S$, S= (paraly) p(0)=of is S = subspace of Py. 1) 5 # Since 0 EST { 0(1)=0 2) $ld p Gl, q Gl \in S \implies p(l) = 0, q(l) = 0.$ Now $p+q \notin 5$ (p+q)(1) = p(1)+q(1) = 0+0=03) LA pares ~ GR

y~+ ~ ~, 3) LI pares ~ CR => p(1)=0. Now $\left[\alpha p \notin S \right]$: $(\alpha p)(l) = \alpha(p(l)) = \alpha(o) = 0$ ~, ~pes, (1, 2, 3) =5 5 is a subspece. $p(x) = q + q x + q x + q x^3$. p(1)= a+a+a+a = 0 PCH=2+X+X ES $p(1) = 2 + 1 + 1 = 4 \neq 0 = 1 \quad p(x) = 2 + x \in x^{2} \notin S,$ $(2(r)) = 1 - x + 2x^{2} - 2x^{3} \notin S$ $(2(r)) = 1 - 1 + 2 - 2x^{2} \# S$ $(2(r)) = 1 - 1 + 2 - 2x^{2} \# S$ $(2(r)) = 1 - 1 + 2 - 2x^{2} \# S$ Ex. 5= [fore CE:1]: (f'(x)+f(x)=0]. Is 5 a subspace of CE:1]. $f(x) = S_x \cdot ES : f(x) = G_{SX}$ $f'(x) = -S_x \cdot C[q, b] : all functions$ $f(x) = -S_x \cdot C[q, b] : all functions$ $f(x) = -S_{1X} + S_{2X} = 0 \cdot C[q, b] : are cond. = n [q, b].$ e \$5 / f(x = x + x² + x³ \$5 (check) 1) Stof since OES/ 2) bet f(x), 9(x) ES => f(x) + f(x) = 0 al g(x) + g(x) = 0. Now $f + g \neq S$ consider (f + g)'' + (f + g) = f'(x) + g'(x) + f(x) + g'(x)

Now $f + g \in S$. $f + g \in S$. 2) ht flycs, xOR -s fluefly=0. Now kf ES consider (~f) + (~f) = ~ f col + ~ f(x) $= \prec \left(\int_{a}^{b} + f(a) \right)$ $= \prec (0) = 0.$ $= \checkmark (0) = 0.$ $= \checkmark (0) = 0.$ Er. Nullspace of a matrix. Les A= (aci) mrn/be a matrix. al het NAL-SXER! X is a solution to Ax=06. [Mullspace] Is N(A) a subspece of P. 1) N(A) # \$ since O= (?) is a solution to Ax=0. 2) Let $X G C N(A) \implies A x = 0 A y = 0.$ Now $(x+y) \notin N(A)$ A(x+y) = Ax+Ay = 0+0 = 0. \therefore x+y $\mathcal{CN}(A)$. 3) Let XEN(A), XER. => AX=0. Now is $\underline{x} \in N(A)$: consider $A(\underline{x}) = \underline{x}(A\underline{x}) = \underline{x}(\underline{0}) = 0$.

WIND = N(A) is a subspace of R. Nullspace of A = N(A): the set of all solutions of Ax=0. Ex: Find the nullspace of A = (1 2 -1 1 2 -1 1 2 1 -1 0 1/3×4 Find all solutions of Ax=0 Solve Ax=0. $\begin{array}{c} -\frac{1}{5} \operatorname{Rut} \operatorname{Rut} & 1 & 2 & -1 & 1/0 \\ 0 & -5 & 3 & 0/0 \\ 0 & -5 & 3 & 0/0 \\ 0 & 0 & -3 & -5 \\ 0 & 0 & -5 \\ 0 & 0 & -5 \\ 0 & 0 & -7 \\ 0 & -7 \\ x_{3} = 0 \\ x_{4} = x \end{array} \xrightarrow{} \operatorname{Rut} \operatorname{Rut} = 0 \\ \begin{array}{c} -5 & x_{1} = 0 \\ -5 & x_{2} = 0 \\ -7 \\ x_{3} = 0 \\ -7$ $\begin{array}{c} x_{1} + 2x_{1} + x_{2} = 0 \\ x_{1} + x_{2} = 0 = 1 \\ x_{1} = -x_{1} \\ x_{1} = 0 = 1 \\ x_{1} = -x_{1} \\ x_{1} = -x_{1} \\ x_{1} = -x_{1} \\ x_{2} = -x_{1} \\ x_{1} = -x_{1} \\ x_{2} = -x_{1} \\ x_{3} = -x_{1} \\ x_{4} = 0 \\ x_{5} = -x_{1} \\ x_{$ $: N(A) = \begin{cases} -x \\ 0 \\ 0 \end{cases} : x \in R \end{cases}$ $N(A) = \int \left(\left(\begin{array}{c} -1 \\ 0 \\ 0 \end{array} \right) \right) \cdot \mathcal{A} \in \mathbb{R}^{2}.$ $\overline{E_{K}} = \begin{pmatrix} 1 & 1 & 0 \\ 2 & 1 & 0 \end{pmatrix}, \quad \overline{F_{11}} \neq \underbrace{N(A)}_{A}$ $A \longrightarrow \begin{pmatrix} 1 & 1 & 0 \\ 2 & 0 & 1 \end{pmatrix} \longrightarrow \begin{pmatrix} 0 & 1 & 0 \\ 0 & -1 & 1 \end{pmatrix} \xrightarrow{-X - 2X_3 + X_4 = 0} \\ X_2 = -2X + \beta.$

 $\lambda = -2 \prec + \beta.$ $X_3 = d$, $X_4 = \beta$, Χ, $x_3 = 2x - \beta - x_3 = 2x - \beta$ $\begin{pmatrix} z - \beta \\ -2 x + \beta \\ z \end{pmatrix} = z, \beta \in \mathbb{R}^{d}$ $N(A) = \xi$ $N(A) = \begin{cases} x \begin{pmatrix} 1 \\ -2 \\ 1 \\ 0 \end{pmatrix} + \beta \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} \cdot \cdot \cdot \cdot \cdot \cdot \beta \in \mathbb{R}^{2} \end{cases}$